#2. Halla la solucion de las ecuaciones.
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3. Resuelve,
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alex+4=4-7—bx=28-4—bx=24—x=4
b)Ix-5=2-2—=3Ix=4+5—3Ix=9—x=3
c)l6—-x=1-7——x=7-16—+—x=-9—x=9
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#4. Calcula la solucion de las ecuaciones.
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c)(4x—38)-5=3x+2 —20x—190=3x+2 — 20x—3x=190-2 — 17x=1BB — x = -1'—__'-
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d)2x=24-3 - 2x=72 —x=136

29, Resuelve estas ecuaciones.
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a)2-3 (x—2)=3 s 6x—12=3—+6x=12+3—+ 6x=15—+x=5/2
B)3-2-(1—-x)=-2 6 —6x=—2——Gx=—6—2——6x=—8—+x=4/3
c)3-[4[1-2x)—-3x]=5—12(1-2x) —Ix=5—12 - 24x—9x=5—>-24x — I =-12+5— x=T7/33
d)10 —Ax+2+3x=2/5—+5- (10— dx+2+3x)=2—5-(12—x)=2 — 60— 5r=2 — —Sx=—60+ 2 — x =58/5



